C:h Finding Product (3 x 2) Name:

Solve each problem. Answers
1) A new library received 506 boxes of books with 70 books in each box. How many books
did the library receive total? 1.
2.
2) Vanessawas building a LEGO tower. She built it with 529 stories and with 61 blocks on
each story. How many LEGO blocks would she have used? 3.
4,
3) A coat manufacturer puts 550 coatsin a shipment. If they sent out 16 shipments, how
many coats would they have sent out? S.
6.
4) A golf course driving range goes through 453 golf balls a day. How many golf balls would
they go through in 38 days? 7.
8.
5) A cruise ship compartment can hold 941 pieces of luggage. If a ship had 13 compartments,
how many pieces of luggage can it hold? 9.
10.

6) The booths at the state fair make 962 dollars an hour. How much money would they have
earned after 62 hours?

7) A pizzachain uses 896 grams of cheese on their pizzas. If they sold 41 pizzas, how many
grams would they have used?

8) A school bought 553 boxes of computer paper for the computer |ab. Each box had 34
sheets of paper inside it. How much paper did they buy total?

9) A lawn mowing company had 122 customers. If each customer paid 57 dollars ayear, how
much money would they make?

10) A vat of orange juice contains the juice from 798 oranges. If a company has 32 vats, how
many oranges would they useto fill them all?
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C:h Finding Product (3 x 2) Name: Answer Key

Solve each problem. Answers
1) A new library received 506 boxes of books with 70 books in each box. How many books
did the library receive total ? 1. 35420
2. 32,269
2) Vanessawas building a LEGO tower. She built it with 529 stories and with 61 blocks on
each story. How many LEGO blocks would she have used? 3. 8,800
4. 17,214
3) A coat manufacturer puts 550 coatsin a shipment. If they sent out 16 shipments, how
many coats would they have sent out? 3. 12,233
6. 59,644
4) A golf course driving range goes through 453 golf balls a day. How many golf balls would
they go through in 38 days? 7. 36,736
8. 18,802
5) A cruise ship compartment can hold 941 pieces of luggage. If a ship had 13 compartments, 6.954
how many pieces of luggage can it hold? 9. ,
10. 25,536

6) The booths at the state fair make 962 dollars an hour. How much money would they have
earned after 62 hours?

7) A pizzachain uses 896 grams of cheese on their pizzas. If they sold 41 pizzas, how many
grams would they have used?

8) A school bought 553 boxes of computer paper for the computer |ab. Each box had 34
sheets of paper inside it. How much paper did they buy total?

9) A lawn mowing company had 122 customers. If each customer paid 57 dollars ayear, how
much money would they make?

10) A vat of orange juice contains the juice from 798 oranges. If a company has 32 vats, how
many oranges would they useto fill them all?
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C:h Finding Product (3 x 2) Name:

Solve each problem. Answers
8,800 6,954 36,736 12,233 17,214
25,536 59,644 18,802 32,269 35,420 1.
1) A new library received 506 boxes of books with 70 books in each box. How many books 5
did the library receive total ? '
3.
2) Vanessawas building a LEGO tower. She built it with 529 stories and with 61 blocks on
each story. How many LEGO blocks would she have used? 4.
5.
3) A coat manufacturer puts 550 coatsin a shipment. If they sent out 16 shipments, how
many coats would they have sent out? 6.
7.
4) A golf course driving range goes through 453 golf balls aday. How many golf ballswould
they go through in 38 days? 8.
9.
5) A cruise ship compartment can hold 941 pieces of luggage. If a ship had 13 compartments,
how many pieces of luggage can it hold? 10

6) The booths at the state fair make 962 dollars an hour. How much money would they have
earned after 62 hours?

7) A pizzachain uses 896 grams of cheese on their pizzas. If they sold 41 pizzas, how many
grams would they have used?

8) A school bought 553 boxes of computer paper for the computer lab. Each box had 34
sheets of paper inside it. How much paper did they buy total?

9) A lawn mowing company had 122 customers. If each customer paid 57 dollars a year, how
much money would they make?

10) A vat of orange juice contains the juice from 798 oranges. If acompany has 32 vats, how
many oranges would they use to fill them all?
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